c:\myfiles\pw_production\dms44777\Std.604-2.dgn [Metric]

95 x 6.4 Plate

22 December 2014 2:29 PM

SHEET

STATE NUMBER

PROJECT

L102 x 64 x 6.4
(trim L to size)

NOTE:

1. STRUCTURAL STEEL: AASHTO M 183 (ASTM A 36M).
2. BOLTS & WASHERS: ASTM A 307, Galvanized.

3. THREADED CONCRETE ANCHORS: Ferrule loop

L102 x 25 x 6.4
(trim L to size)

6.4 plate stiffener

SECTION B-B

inserts for M10 bolt or approved equal.

4. HEADED CONCRETE ANCHORS: Weld to frame with a
full penetration butt weld.

5. WELDING: Weld in conformance with the Standard

Specifications. Unless otherwise indicated seal weld
all joints with a minimum size fillet weld, based on
material thickness. Grind smooth all contact surfaces.
FINISH: Galvanized after fabrication.

6. Estimated weight, frame and grate (756 x 756)
97.5 kg. Increase or decrease weight by 12.7 kg for
each 115 increment.

7. Number of plates varies according to pipe diameter.

See Standard M604-1.

8. See Standard M604-1 for dimensions of T.

9. Furnish hardware in the metric sizes shown.
Equivalent US Customary sizes may be used when
metric sizes are unavailable.

10. Dimensions without units are millimeters.

-

FRAME AND GRATE DETAILS

617

105 Spacing for 12.7 x 125 100 91
plate at 115 (See Note 7)
Direction of flow —»
] \
V%i g T
%-0 — \ (typ.) 617 -
- AN Ny
- LI
T - 24 (See Note 8) iz x 100 R t 15.8 dia.
SECTION A-A headed anchor — T bar
Plate 125 x 12.7
—~+——— TRAFFIC ——» : Drill 13 dia. hole
13 dia. hole 25 dia. hole furnish M10 bolt
and washer
Y
i ﬂ 7 45 x 45 x 6.4 Plate
Lo :\7 —~ Ferrule loop insert for M10 bolt
ol q
MRS
L0 A A E ©
r_Qu L,Q [ C [ I e g L,r\) ~
gl S| ‘\'l
TN 0|®
o =d g - —
N EEEE. = |
R 9% <| @ '
2 g RS 22
S¢ 8 [ 22
S| ® S q
3 & C C C C—T S|o
JE GHN | Ny GHNNNN iy GHNNNNN B Q
0| o[
i
SHI | I | I | | R A |
D | s T e N | O | N A N ) Y S— S— N | DU VS— S | R
, o] | B -
I
. 30
typ.
- ) GRATE DETAILS L
= Q
‘*lgﬂ (typ.)
o 2 y i <
o
S S L102 x 25 x 6.4
] o \ g
13 dia. hole
oS
g3
Sl
<o
SR
ISk
x
<) 0
Rlg P <
3
§ : —— 13 dia. hole
SR
S E L102 x 64 x 6.4 \ L102 x 25 x 6.4 L102 x 64 x 6.4
® |G
Q
YRS (typ.)
V]
Y
i P 9
S
~ o o
Y o]
64 2 equal spaces for | 64

M12 x 100 headed anchors
T (See Note 8)

FRAME DETAIL

FRAME CORNER DETAIL

GRATE CORNER DETAIL

L102 x 25 x 6.4

A M12 x 100
‘>, .| headed anchor

FRAME ANCHOR DETAIL
85 x 6.4 Plate

U.S. DEPARTMENT OF TRANSPORTATION
FEDERAL HIGHWAY ADMINISTRATION
FEDERAL LANDS HIGHWAY

METRIC STANDARD

METAL FRAME AND GRATE
TYPE A

STANDARD APPROVED FOR USE 3/1996
REVISED: 8/1997 6/2005

95 x 6.4 Plate

6.4 Plate stiffener

NO SCALE STANDARD

M604-2




	FLH Standard Drawings
	604-2: Metal Frame and Grate, Type A
	Metric
	US Customary



	NPS: 
	Project: 
	State: 
	M604-2: 


